Full code for the additional fields calculations in the January/February 2007 SCM Expert article, “Use PP Time Events to Measure Your OEE,” by David Newick.

clear t_afru.
refresh t_afru.
avhours = 0.
gaphours = 0.
plannedrunhours = 0.
plannedsetup = 0.
plbreakhours = 0.
runhours = 0.
setuphours = 0.
stophours = 0.
totgood = 0.
totrework = 0.
totscrap = 0.
avrate = 0.
effrate = 0.
qrate = 0.
oeerate = 0.
*
* calculate number of planned break hours from capacity header  held in seconds. This is assumed to be a *regular shutdown and machine  hours will not be accrued if the events straddle this shutdown,
* e.g. if normally stop at 22:00 for 2 hours and a start event at 18:00 and a stop event at 06:00 the next day, 

*then only 10 hours will be posted in the stop event
plbreakhours = 24 - ( kako-endzt / 3600 ).
*
* get a list of the unreversed confirmations, although most data is summarised in AFVV already.
select * from afru into T_afru
where rueck = afvc-rueck
and stokz = space
and stzhl = 0.
append t_afru.
endselect.
*
* sort table here if required
loop at t_afru.
totgood = totgood + t_afru-gmnga.
totscrap = totscrap + t_afru-xmnga.
totrework = totrework + t_afru-rmnga.
*
* running hours is the accrued number of machine activity hours  note that it will ignore breaks on the capacity if *you go over  days which are non-working on the factory calendar attached to the capacity header.

 *Same for setup. Also note unit on operations is set as hours, but some confirmations record
* in units of 15 minutes so need to convert all times back to hours !
if t_afru-ile02 = '15M'.
runhours = runhours + ( t_afru-ism02 / 4 ).

else.
runhours = runhours + t_afru-ism02.
endif.
* setup hours is the accrued number of setup activity hours, converted from unit 15M where necessary
if t_afru-ile01 = '15M'.
setuphours = setuphours + ( t_afru-ism01 / 4 ).
else.
setuphours = setuphours + t_afru-ism01.
endif.
endloop.
* planned run hours is the planned activity * actual qty / planned quantity. This is how long it should have 

*taken to make the quantity you actually made.
if afvv-mgvrg gt 0.
plannedrunhours = afvv-bearz * ( totgood + totscrap + totrework ) /
afvv-mgvrg.
endif.
* planned set up time is quantity independent
plannedsetup = afvv-ruest.
* gap hours is a gap between setup completion and processing start
if afvv-isbd is not initial.
if afvv-ierd is not initial.
gaphours = ( ( afvv-isbz - afvv-ierz ) / 3600 )
+ ( ( afvv-isbd - afvv-ierd ) * 24 ).
* gap hours is then reduced by the planned break hours if it goes over more than one day.
gaphours = gaphours - ( plbreakhours * ( afvv-isbd - afvv-ierd ) ).
endif.
endif.
* available hours is the total time between setup start and processing finishing
avhours = ( ( afvv-iebd - afvv-isdd ) * 24 )
+ ( ( afvv-iebz - afvv-isdz ) / 3600 ).
* availabe hours is then reduced by the planned break hours if it goes over more than one day.
avhours = avhours - ( plbreakhours * ( afvv-iebd - afvv-isdd ) ).
* stop hours is the total hours the machine was not running + setup + interrupts entered .
stophours = avhours - ( gaphours + runhours + setuphours ).
* classic availability rate calculation, includes time spent on setup and all stoppages during setup and 

* processing and gaps
if avhours gt 0.
avrate = ( runhours * 100 ) / avhours.
endif.
* classic efficiency calculation looking at speed losses during processing, ignores setup
if runhours gt 0.
effrate = ( plannedrunhours * 100 ) / runhours.
endif.
* classic quality rate calculation looking at amount scrapped
if totgood gt 0.
qrate = ( totgood * 100 ) / ( totgood + totscrap ).
endif.
* classic OEE rate calculation from the previous 3 rates.
oeerate = avrate * effrate * qrate / 10000.
